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(a) wifty & 91 W (b) FaT B A W

(©) wifid & 91 W (d) |pfd & 9 W

ey # fHa e &1 gt 9 22

(a) wepfar (b) WPl

(c) wwrar (@ uRRufy
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32.

33.

Instruction for the Question Nos. 26 to 30 :

Read the following passage carefully and answer the following questions that follow:

We in India have our own special problems. No one can deny that some of them are of a serious nature
and must be attacked with vigour and determination. Our national objectives have been defined clearly.
We aims at providing every citizen with the basic necessities and complete freedom to lead a life of his or
her own choice. We aim to create a democratic society, strong and free in which every citizen,
irrespective of his religious beliefs, will occupy an equal and honoured place, and be given full and equal
opportunities for growth and service. We aim at ending untouchability and doing away with the present
inequalities of status and wealth. We are opposed to the concentration of wealth in a few hands.

This passage could most probably be a part of -

(@) The Indian Constitution (b) A book on Political Science

(c) A Speech (d) A Personal Letter

Ty
o
(%))

According to the author our national objective ngo -
(v

(@) create unequal opportunities for all. (b) promote individual freedom and prosperity.
(¢) end economic prosperity in the country. (d) favour the concentration of wealth in a few
hands.

Pick out the wrong statement -
(@) The problems of Indians are like anyone e[s&if. (b) There is no uncertainty about our national

% objectives. : |
(¢) Some of our problems can be handled oniy@ (d) Our goal is to build an Indian free from
strong people. , 8 economic exploitation.
The underline word in the passage ‘vigour’ means -
(@) physical tension (b) forcefulness of language
(¢) loose temper : (d) force
What is the synonym of the phrasal verb 'doingt@vay'with’ used in the passage?
(@) abolish & () doing with
(¢) remain forever ‘g% (d) create
Change the voice and select the correct passive%ice from the given options -
Someone gave her bull dog.
(@) She was given a bull dog. (b) A bull dog was given to her.
(¢) She has been given a bull dog. L0 (d) She is being given a bull dog by someone.
Fill in the blank with the appropriate word give&%aelow.
The Air India...............concessional tickets these ggys.
(@) isissuing N (b) issues
(€) issued : (d) have issued
Transform the following simple sentence into complex sentence -

He admitted his mistake.
(@) He admitted that he was mistaken. (b) He admitted to making a mistake.
(c) He admitted that he was making a mistake. (d) He admitted that he had made a mistake.
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34. Select the correct indirect speech of the given sentence -

35.

36.

37.

38.

39.

40.

| said to him, “Let us go out for a walk.”

(a) Isuggested him that they should gooutfora  (b) | requested him that we should go out for a

walk. uD') walk.
(€) 1told him that they should go out for a walk. % (d) 1suggested to him that we should go out for a
g walk.
Which of the following is correctly punctuated? ; |
What a beautiful painting did you paint it.
(@) What a beautiful painting did you paint it. (b)  What a beautiful painting -did you paint it!

(c) What a beautiful painting: did you paint it? g (d) What a beautiful paintingi Did you paint it?
(W)

Choose the correct word which is opposite in meazghg of the given word.

Recede %
(@) Rush (b) Advance
(c) Approach i3 (d) Forward
Find out the misspelt word -
L
(@) seize : L%(b) decieve
(¢) believe ) (d)  reign
3

Choose the correct one which best expresses the fganing of the phrase of the underlined words -

| am like a cog in the wheel of this company.

(@) atechnician ‘ (b)  the least paid employee
(c) animportant person § (d) an unimportant person
Choose the correct word which expresses the meauoc—l)ing of the underlined word of the sentence given
below - N

Deepak has a penchant for fine poetry.

(@) Desire (b) Bias

(¢) Liking (d) Training

Consider the following statement and choose the correct option -

The Dash is used -

() Toindicate an abrupt stop or change of thought

(Il) To resume a scattered subject

(a) Only (1) (b) Only (1)

(¢) Both (1) and (I1) (d) Neither (1) nor (11)
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41. Find the odd one from the given alternatives - 4. 1 T el # 4 favg ghg —
(a) AXcz (b) JokQ (@) AXCZ (b) JokQ
(c) TBVD (d) FRHT (c) TBVD (d) FRHT

42. Blind and not blind is an example of - 42. 3ferr R I 8] UH SQENTT B —

(a) Qualitative data  (b) Quantitative data (@) TUTHD THD (b) HEATHD HAHD
(c) Both (a) and (b) (d) None of these (©) (a) SiiR (b) <1 (-d) ?;‘ W PR

43. Which of the following is determined with the 43 3maa fo =1 # 9 fows FuRer § W/
help of histogram? Hxar 87
(a) Arithmetic mean  (b) Median . (@) FHR HEY (b) ATfeTenT
() Mode (d) Harmonic mean : (c) IgcTd (d) BTHS HE™

44. 11 observations are arranged in ascending order. 44 11 Uefolf I RIS HH F TafRerd fhar T 2 |
If 10 and 9 are respectively the arithmetic means Ifg 10 Td 9 HA: 9H 9 99 RIEl W IqH
of observation on even and odd places, then the el Vel B THIOY ARG €, T 9l 11 NefOl &l
mean of all 11 observations is - e 8 —

(a) 9.50 (b) 9.48 (a) 9.50 (b) 9.48
(c) 9.45 (d) 8.63 (c) 9.45 (d) 8.63

45. |f the area of the base of a cone is increased by 45 Ife &l ¥ & AR BT &ABA 100% FaT 37
100%, then the volume is increased by - SR, 7 99D I § gy snil —

(@) 200% (b) 141% (@) 200% (b) 141%
(c) 182% (d) 100% (c) 182% (d) 100%

46. The semi diameters of bases of two cylinders A 46- TT dc9f A T B & IRl & JSAN 32D
and B are in the ratio 3:2 and their heights are in AU H & TAT STBT HaAAl n:l B AU H
the ratio n:1. If volume of cylinder A is 3 times of g e 9999 A &1 T, 9999 B B AT Bl
volume of cylinder B, then value of n is - 3 AT 8L, Al n Pl A BRI —

(@3 (b) 2 (a) 3 (b) 4
2 3 2 3
(¢ 2 (d)i2Ss (c) 3 (d) 2
4 3 4 3

47. |f the radius of a cylinder is increased by 25%, 47- AfQ 9o @1 AT § 25% @1 gfg F & WY,
then by how much percent the height must be qr SarE @ fras glieR germ o R 399
redu?ed, so that the volume of the cylinder &1 araET aRatt e
remains same?

(a) 36 (b) 42 (@) 36 (b) 42
(c) 58 (d) 62 (c) 58 (d) 62

48. If both the square root and the cube root of a 48 e fbdl A1 bl areh U & & e
three digit natural number belongs to the set of 9 Ul G 8 UIpie R & T &
natural numbers, then the sum of its digits is - Jeg B, o YT & 3T BT AT & —

(@9 (b) 10 (@9 (b) 10
(c) 18 (d) No such number (c) 18 (d) @1 U H=T
exists faerm 98 &

49. HCF of two numbers is 25 and other factors of - 49- T HERN $T HCF 25 B TAT SUP LCM & 3T
their LCM are 14 and 15. Sum of the numbers is - TUFETS 14 3R 15 € | H=ARIT BT A & —

(a) 700 (b) 725 (a) 700 (b) 725
(c) 750 (d) 775 (c) 750 (d) 775
Page 6 of 16
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0. Choose the set of numbers from the alternatives 50 fawedl % @ sidi & W= 31 AT W Gy
which is similar to the set (6, 36, 63) - (6, 36,63) @ THHT & —

(a) (8, 64, 46) b) (7, 49, 98) (a) (8, 64, 46) (b) (7, 49, 98)
¢) (94, 44, 5) (d) (11, 111, 84) (c) (94, 44, 5) d) (11, 111, 84)

51. |f the LCM and HCF of two polynomials are (x+1) 51 af¥ =7 98Ucl & LCM 3iR HCF HHI: (x + 1)

(x? + 6x + 8) and (x + 1) respectively and one of (x +6x +8) TUT (x+1) € 3R I7H ¥ [P 98U
the polynomial is X + 5x + 4, then the other is - X2 +5x + 4 8, T GO 9gUS & —

(a) x2—3x+2 (b) x2 +3x +2 (@) x?—3x+2 (b) x? +3x+2

(€ x2+2x+3 (d) x2—2x+3 (€) x2+2x+3 (d) x2-2x+3

52. If after selling 30 pens, the seller observes the  52. uf¥ e fAddr &Y 30 Pold 4= & IT€ 10 ForH]
profit of sell price of 10 pens, then the profit % g Hed @1 ?'ﬂ'q BIAT &, A & &1 ufeerd
percentage is - : 2 —

(a) 33.33% (b) 50% (a) 33.33% (b) 50%
(¢) 66.67% (d) 200% (c) 66.67% (d) 200%

53. If two dogs start running in opposite directions 53 IIfy @Y Gl Ud 7 AL AN drel PR U W
on a circular path of diameter 7 m with the speed fadia feemeit ¥ 2.5 41 /HHvs Ud 3H). /APUS
2.5 m/sec. and 3 m/sec., then how long will they DI AT ¥ QST IRY B 2, al AUH H
take to be at maximum distance? BT §R B1F H S fHaT wwg ?

(a) 1 second (b) 2 second (a) 1Adbvs (b) 2 Avs
() 3 second (d) 4 second (c) 3¥Hvs d) 4 Jmrs

4. If X men complete a work in 40 days and after 54 AfE X 3MEW U H BT 40 R} F T FRA &
adding 5 extra men 10 days are saved, then 30 3R 5 faRaw smeelt @ 9 10 fRA & s=a
men will complete this work in - BICil &, T 30 3MSHT $9 B BT YT AT —

(@) 40 days (b) 30 days (a) 40 fe=T # (b) 30 f&=i1 #
(¢) 20 days (d) 10 days (¢) 20 f&=T # (d) 10 f3=1 #

55. Three numbers are in the ratio of 3:4:5 and their 55 <=1 Hw&ITal T S1uTa 3:4:5 8 Td I HCF 3R

HCF and LCM are 40 and 2400, respectively, then LCM $hHET: 40 3R 2400 & o S99 HaH 9

~ the largest number is - HE B —
(@) 40 (b) 200 (@) 40 (b) 200
() 240 (@360 () 240 (d) 360
6. Assertion (A) - Interpersonal attraction is a part ~ 56. aifiieer (A)— siddafda® ST IR
of social interaction. 3AAHAT BT Th 91T 2|

Reason (R) — It is necessary for survival. R (R)— T Wﬁﬁﬁm %@ AMATF 2 |

(@) Both (R) and (A) are (b) Both (R) and (A) are (@) (R) @R (A) Fi (D) (R) 3R (A) 1
true and (R) is true but (R) is not | & 3R (R), (A) | g fdg (R), (A)
correct explanation correct explanation P HE AR FIAT DI Tl ARAT 8]
of (A) of (A) 3 RGN

(c) (A)is true but (R)is (d) (A)is false but (R) is (©) (A) | ® fa=g (R) (d) (A) Tora @ fb=g (R)
false true Ted & g &

97. Which communication network promotes an  57- 3% W 9 91 WUR a3 A AT 1 v &
individual to communicate  confidential S JAfTBN AT U9 RNl PR Bl
information only with his immediate superior or T SRl Y 9 Ao 2ar 2
subordinate? ; ’

(a) Gossip — chain (b) Cluster — chain (8) TR S {b) 35 - A
(¢) Wheel - chain (d) Single - chain ©) s oIl (S Repel = Al
[A-2-24] 153102 . Page 7 of 16
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A e P B raH 9 ue @ sifNeYH (A)

58. Given below are two statements, one is labelled 98
as-assertion (A) and other is reason (R) - ailk T‘cﬁ P BRI (R) BT TIT & —

Assertion (A) — Oral communication is a useful s (A)— ARed FAR T ITAET HER

channel of communication. BT 7 R
Reasonu()R) — Because oral communication has no 1 s
5 proof what has been communicated. PTT (R) 2 e Wmﬁg ?%:r: codigl]

23235 @e correct answer using the code given 9 Ry O B & TR IR R —

(a) Bot!ﬁf'(A} and (R) are (b) Both (A) and (R) are (@) (A) 3% (R) ST () (A) Gﬁ—" (R) @
true and (R) is true but (R) is not W € SR (R), (A) Wl § ﬁ’T‘j (R), (A)
correct explanation correct explanation Pl HET AT BT DY HE] ARAT TE
of (A) of (A) g P &

(c) (A)is true but (R)is (d) (A)is false but (R) is () (A)wT & fg (R) (@) (A)Terd © feg (R)
falsey true HEAR- A ®

59. Interngkeonflict that occurs, when people receive 59 3ifaRe @=rd, vr@ T ReIfd & HRUT S~ &,
inform@on incompatible with their value system W1 fb e oridR® qei @ fReg g e
;Sa)k?m:s- o o B9 ¥ B 2, SR 5 w9 4 S o ¥

ognitive nvironmenta . AR AR
Dissonance Dissonance RIS : (b) gt .

(c) Social Dissonance (d) Political Dissonance () wrfore faw  (d) o fawf

60. Which one of the following is not a type of 60. fm=faiRad # & &9 A T Yomell SHI=TRD
informal communication network? FAR Fedd Bl UPR -Tel 8¢
(@) Profiability (b) Cluster (@) T (b) ¥HE
(¢) Gogsip (d) Circular (¢) Truerg (d) wpeR (ARu)

61. Given below are two statements, one is labelled 61. = g1 B fou v & R ¥ v 31 aifidmem
as assertion (A) and other as reason (R) — (A) 3R TER BT SR (R) FET AT & —
Assertion (A) — Clarity of communication is B (A) — HOAR BT TedT FIEY HaR

essential for effective ufthar @ forg mawas 2|
communication process. PRI (R) — Fifh gfegadt (qaiean) vd ersfin

Reason (R) — Because adequacy and timing is not (FHa R gragel H9R afshar

> essential for effective & forg amava® T8 g
&y  communication process. 41 faw U e 9§ el SR gy —

Select {:@'rect answer using code given below - (a) (A) 3R (R) ST (b) (A) 3R (R) T

(a) BotﬂA) and (R) are (b) Both (A) and (R) are T § 3R (R), (A) W € 5 (R), (A)
true and (R) is . true but (R) is no.t 1 TS T BT 9 9 @ T8
correct explanation correct explanation i
of (A) of (A) 8 ¥ 8

(c) (A)is true but (R)is (d) (A) is false but (R) is ©) ()& & f&g (R) (d) (A) Tera & f&g (R)
false true TeAd & g ®

62. Select one alternative from the following, which  62. f=farRad fadedi # & fsll U fAded &1 Y,
is not a way of dealing with rumours - ST AHATE BT YIS BT AIBT 7 B —

(a) Providing facts (b) Reduction of causes (a) T2 SUTeS BT (b) BV BT HH BHRAT

(c) Use of reliable (d) Concealment of fact () freaeria Sl @1 (0) TR & Yol ¥
sources from leaders of

. TN AT ey fourEm
community

[A-2-24] 153102 Page 8 of 16



63.

64.

65.

66.

67.

68.

69.

70.

Originally who developed the concept of
‘Transactional Analysis’?

(@) Joseph Luft (b) Eric Berne
(¢) Harrington ingham (d) None of the above

Which one of the following is not a psychological
barrier in communication?
(a) Bodily expressed  (b) Premature
message evaluation
() Distrustin (d) Inattention
communication

In the communication model, the process of
putting the ideas into a message is known as -

(a) Persuasion (b) Encoding

(c) Decoding (d) Interference

the
communication process in correct sequence —
(1) Source

(2) Channel

(3) Receiver

(4) Message

(5) Feedback

(6) Noise

(@ 1,4,2,3,6,5
(€) 1,3,4,2,6,5

Arrange following  elements  of

(b) 1,2,3,4,5,6

(d) 4,5,6,1,2,3

Which one of the following is NOT a component

of listening?

(a) Sensing (b) Evaluating

(¢) Responding (d) Persuasion

Paralanguage is related to -

(a) Interpersonal skills (b) Verbal

communication

(¢) Non-verbal (d) bownward

communication communication

Shyam is friend of Ram. Pointing to Manish,
Shyam asked Ram, who is he? Ram said, “His son
is my son’s uncle”, Manish is related to Ram as -
(a) Father (b) Father-in-law

(c) Grandfather (d) Brother

If on 31t March, 2008 is Monday, then what day
shall be on 315 March, 2011?

(a) Sunday (b) Tuesday

(¢) Thursday (d) saturday

63.

o 20659D5

2063965

2065905

70.

5.

> | m

HeaeR fageyor Rigid ®F qod: |dyem fhas
ey favar?
(b) TR& &+

(a) SRIw e
(c) eRaTe gem (d) ST # & B 7E

. Prafifed 3§ B 9UR 3 e Taehe

g TE B?
(a) 2R w9 e (b) F99 | Yd b
e

(c) ¥aR # aifdzard () srgu=

IR dfee H, ARt &1 w@aer # srem &) ufthan
I e w9 H ST ST 87

(@) srgT (b) SiaciiepvoT

() SrFdTTBRT (d) gwaey
- FER Ufhar & fAefolRaa dwl o7 9El B9 §
ARG BITT —

(1) &

(2) =TT

(3) U T

(4) FaET

(5) wfergfte

(6) TR

(a)1,4,2,3,6,5
(€) 1,3,4,2,6,5 -

(b) 1,2,3,4,5,6
(d) 4,5,6,1,2,3

rfalRad § & &9 29T &1 g T8 27
(a) T (b) FiepT
(c) wfcrfshar &= (d) 3rg7

- URTHIST (URTeivao) Sefdd & —

(a) era:dufdas Bl (b) arfre Fuyor 9
3

(c) ararfaes FU9Or & (d) STl WU§er 9§

- TG XM BT AF 8 | Y B AR SIURT HRA §Y

M A M ¥ 9B 6 98 $F 87 I T FE,
“IHPT 9CT A IC HT AT & |7 A9 BT 9 |
Fa7 e 27?

(a) fora (b) TR

(c) gTaT (d) wrg

Ifq 31 A1, 2008 P AHAR B, dF 31 9, 2011
BT DI 3T BI?

(a) Xfaar (b) HITTAR

(c) gefar (d) srfvarR
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71. Which one of the following years will have the 71. =1 # & fw ad @1 deler a9 2009 HI TE
same calender as of 20097 &7 EATT?
(a) 2014 (b) 2015 (a) 2014 (b) 2015
(c) 2016 (d) 2017 (c) 2016 (d) 2017
72. Refer to the statements given below — 72. {9 HUET BT HeH o —
I. All boys are truthful. |. T dTeTh _":rg'w gl
Il. Kamal is boy. Il. DHeT dleld |
Conclusion - - e — ;
(1) Kamal is truthful. (I 8 :
(2) &1 FEE) STE B & |
(2) All truthful persons are boys. I Ru U @ &1 W WD FE SR
Select the correct answer using the code - gﬁ-q s
(a) Only (1) is correct  (b) Only (2) is correct (a) Paer (1) T2 B (b) Baet (2) T &
() (1) and (2) bothare (d) Neither (1) nor (2) is (c) (1) @I (2) I WEY (d) 7 a¥ (1), 7 & (2)
correct correct 5 el
73. There is a clock, that is 3 minutes late on Sunday  73- T ES! W1 XfdaR & qusx 299 3 A9 99 @
at 2 p.m. and it is 5 minutes fast on Tuesday on 3R HITEER &Y Qs # 2991 5 fAFe I 2
2 p.m., when did the clock show the right time? T US4 I 9HY He9 w@rr?
(@) Monday 10a.m. - (b) Monday 8 a.m. (@) HHAR gas 1099 (b) HHIR Yag 8 T
(¢) Tuesday 2 a.m. (d) Tuesday 6 a.m. (c) HTelaR YaE 299 (d) HTTAR GIE 6 T
74. The relation that is there between 6 and 16, 74 I He¥ 6 9T 16 ¥ &, 98l Geyg 12 ToI
remains the same between 12 and .........c.... ™ i HE
(a) 23 (b) 29 (a) 23 (b) 29
(c) 34 (d) 42 (c) 34 (d) 42
75. This is a number series given below. What willbe  75- <1dl 3i& S@ell &1 73 | SHDT ST 3 DA
the next number in the series? |1 BTe
T 58 A7 20N T 0S8 i778 ...
(a) 37 (b) 35 (a) 37 (b) 35
() 33 (d) 31 (c) 33 (d) 31
76. statement : College students should be 76. P : Blciol B BIAT DI oD TR J
restricted from participating in AT o & ufyefa fhar s @iy |
political activities. T )
Argument : (1) Yes, college students should T - (1) 81, Pielst & B H1 JUAN TST TR A
concentrate on studies. T =Ry |
(I1) Yes, colleges are becoming battle () BT, BierT IoRE Tali & forg T @7
ground for political parties. Wi s
Select the correct answer -
(@) Only argument lis (b) Only argument Il is el STR BT I PN —
strong strong (a) Bt 7 | Foe ¥ (b) ot 7F Il VAT &
(c) NeitherInorllis  (d) Bothland Il are () T ay a® | @R 7 1l (d) S 179 Il yaaT &
strong strong g &
[A-2-24] 153102 Page 10 of 16
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78.

79,

80.

81.

82.

83.

84.

Arrange the following words in the meaningful
manner —

(1) Train

(2) Car

(3) Cycle

(4) Bus

(@) 1,2,3,4 (b) 3,2,4,1

(c) 3,4,1,2 (d)1,3,4,2

Anuj is facing North-East. He turned 90° in the
clockwise direction, then 180° in the

anticlockwise and then another 90° in the same
direction. Which direction is he facing now?

(a) South — West (b) North — West

(¢) South — East (d) North

Select the related number from the given
alternatives — '

L | By e
(a) 48 (b) 50
(c) 51 (d) 49

Find the correct alternative from the following —
Glasses : ? : : Bicycle : Unicycle

(@) Monocle (b) pedal
(€) Mirror (d) Face
Who has said, ‘Decision making involves

evaluating alternatives and making choices
among them.’?
(a) Rathus
(c) Baron

(b) Santrock
(d) Matlin
Inductive reasoning is based on -

(b) General to specific
principle

(a) Specific to general
principle
(¢) Both type principles (d) None of these

Algorithm is a type of -
(@) Mechanical solution (b) Heuristics

(€) Rule of thumb (d) Means-end analysis

Functional fixedness produces ............ccceeee in
problem solving process.

(a) Facilitation (b) Blocking

(c) Partial facilitation  (d) No effect

et |m

T/

frefae el @ waifte  seigd wu 3
FrafRerd & —

(1) vei

(2) PR

_ (3) e

78.

79.

80.

81.

82.

83.

84.

(4) s

(@) 1,2,3,4 (b) 3,2,4,1

(c) 3,4,1,2 (d1,3,4,2

IS BT HE ITR—Yd Dl R 2 | 98 90° TG B
ferem # €, = 180° arrast fem # 3R fibe g=r:
90° SHl feem # ¥ | 3@ @ fhw fowm & iR

S &7

(a) aféror — ufdem (b) ITR — Gf¥aH
(c) =féror — it (d) SR

fRe @ fpadl & wafa wen &1 w@u|
HIFTY —

45117 Eviie? !

(a) 48 (b) 50

(e) 51 (d) 49

FrafaRad & 9 W& fRecy &1 9g9 i —
T 1 P : WIEfhA : gAraEfde

(a) H1TF (b) st

(c) sfem (d) =r&T

AT ITH A FIT HAT 2172

(a) very (b) Hvgtew

(c) == (d) Hefor

AMTHATHD TP AMeRE & —

(a) faf¥re & s (b) 9= 9 Al
igia ux fagia uv

(c) T vbR & Rigiai(d) 398 4 g 748
R

TATRYH U UbR & —

(a) Tt THRIE b1 (b) Wa: o B

(c) euaeiR® g\ &1 (d) JreE—areg fageyor

P :

ybTHE  Remdr g9 9EEE uHhH H

............................. I~ Bl 2 |

(a) HEr=Idr (b) grer

(c) 2rif¥rep HeTadm (d) g wqrg &
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85.

86.

87.

88.

89.

90.

91

92.

93.

If a subject attempts to solve a problem on the
basis of his past experience, it is called -

(a) Transfer effect
(¢) Mental set

(b) Confirmation bias
{d) None of these

For one possible solution after another is tried
until a successful one is found, is called -

(a) Insight (b) Guess

(¢) Trial and Error (d) None of these

Which one of the following is not used by the
people as a method of problem solving?

(a) Heuristics (b) Algorithms

(¢) Trial and Error (d) Functional Fixedness
Which one of the following methods of problems
solving gives guarantee of success?

(b) Algorithms method
(d) Planning method

(a) Heuristics method
(¢) Backward method
Which type of problem was used by Kohler in
problem solving?

(b) Detour problems

(d) None of these

(a) Verbal material
(c) Puzzle box

Which problem task is not used in animal subjects

among following?

(@) Puzzle box (b) Detour problem

(c) Anagrams (d) Double alternation
problem

Find the missing number in the following -

2::3:4.16.16:9°8812790, 12, 18, 14, 21,

16, 24

(@) 21 (b) 9

(c) 15 (d) 16

Anoop and Sunil are ranked seventh and eleventh

...................

respectively from the top in the class of 31
students. What will be their respective ranks
from the bottom in the class?

(a) 20t and 23™ (b) 24t and 20t

(c) 25t and 21 (d) 26t and 22"

The missing letter in the sequence Q, N, K, ?, E
is -
(@) L
() N

(b) H
(dp

85. 7fy PIE WAy fHdl AT BT FHEE U
qafd @ SR TR Y BT A el &, @

S mm%‘l

(a) ST=ROT YWTd b) JETHROT GETTd
s (©) AR famre (d)s-rrﬁiﬁaﬂs‘aé’f
88) U I WM B fog Wher fer @@
L) TR BRAT covrercrrns HET ol & |
o
o(a)w (b)

Y (o) e T 3R (d) 37 & BIg &l

87. fp=iftha ® ¥ DIFGT U HHT AR @l fafd
iﬁmﬁamﬁmvfmﬁﬂiﬁwww%?

a) wac: 3 -(b)wﬁﬁem
()W@‘a’% d) weprriere Rerar
mmwaﬁﬁrﬂ%@aﬁmf{mﬁ?ﬁ
gwﬁ%wqﬁaﬁméfﬂ%‘?
g(a)m.sﬁaﬁﬁ} (b) TemiRerm fafdy
(c) gzerTHT fafer (d) ot fafer

89. [HWIT FHMTE H $EeR @ ERI 9 UbR &l
HHEIT BT WAnT fdar Tar?

a) wrfegs AT (b) 3TTELT YA HARITY
c) T=ell Hoem (d) 379 & BIs T8I
993 fifha # & PN AT TS B T FASi
ga% forg SuarT el fbar i 87
a) ggell HoT (b) 3ToeueT Uy HHWITY
(¢) TR d) gevl AR
| RN
9 fepefaaa # faga dem s $ifeg —
g 9 3AB61078.12,10;%.0. 5 e, 12,118,114, 21,
© 16, 24
e (@) 21 (b) 9
(c) 15 (d) 16

92. uep Hel & 31 B H Y 3R Gl BT HA

TR Y HHEY GAdi 3R TIREdr & BEr H A
Y SHDT B B AT BRIT

(a) 2097 3flR 23 @f (b) 2497 3R 2047

(c) 25 @i 3R 214i (d) 26T 3Rk 22 4f
93. 3rgHH Q, N, K, ?,E 7 g« 38R 8 —

(a L (b) H

() N ) p
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94.

95.

96.

97

98.

99.

100.

Choose the number pair/group which is different
from others -
(a) 8:25

(c) 18:73

(b) 22:67
(d) 15:46

A and B are brother and sister respectively. C is

father of A, D is sister of C and E is mother of D,

then how is B related to E?

(@) Grand daughter (b) Great Grand
daughter

(€) Aunt (d) Daughter

Ifin any code language, LC is written as 6 and TE

is written as 10, then what will be the code cQJEPD
in the same code language? 4
(a) 12 (b) 9 ™
(c) 8 (d) 7

A train of length 140 m is running at a speed of
60 km/hr and a cat is running in the same
direction parallel to the train at a speed of

18 km/hr. The train will cross the cat in - g

(@) 10 seconds (b) 11 seconds {2

(c) 12 seconds (@) 1221 ceconds =
2

Find the correct alternative for the mﬁ?ing
term—
ABC, 6, EFG, 210, IIK, ?.

95.

96.

97

98.

99

100.

. 37 T /WE B g S o W e 8 —

(b) 22:67
(d) 15:46

Awam:ﬂﬁﬁ?aﬁ%mmmﬁm D,
C®! 981 3R E, D PI 97 81, a1 B, E W < GHR
Wsferg g7

(a) e (b) o=

(c) == (d) 9

gfe fd s weT ¥, LCHT 6 9T TE @7 10
forar mar 8, S0 @i Wi ¥ PD BT @
FAT BITT?

(@) 12 (b)
(c) 8 (d)
140 HIeX &1 YT 60 B /gve 9 A
W ST & ® SR TP faeeh S Run # Yo
® AR 18 . /a0t & ura ¥ Qe @
2 | YS! fdeell BT UR v onfl —

(a) 8:25
(c) 18:73

9
7

(@) 10 Hdvs F (b) 11 wdvs #
(c) 12 IPpvs | (d) 12%:@@}0@15[
< 98 & forg w8 Rvey s @ifg —
ABC, 6, EFG, 210, IJK, ?

(a) 1000 (b) 190

(c) 990 (d) 999

I a+b.=§+-:-, ar a2+ b? BT AN & —

(@ o (b) 1

(c) 2 (d) 8

gfe E =5, AMENDMENT = 89 &I, dF SECRETARY
A & —
(@) 114
(c) 115

(b) 100
(d) 112

(@) 1000 (b) 190

(c) 930 (d) 999 'é;,’

if a+b =§+§,then the value of a2 + b2 if}‘%

(@ o (b) 1 {s)
[ ]

(c) 2 (d) 8 o~

If E=5, AMENDMENT = 89, then SECRETARY is

equal to -

(&) 114 (b) 100

(c) 115 (d) 112
Ty
o
0
To)
o
o
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